6.3 HW Page 199-202 #2-9

2. Alab group for a biology experiment measured the heights of
16 plants after a week of growth. The heights of the plants (in
centimeters) are given below.

Make a stem-and-leaf diagram for the data.
W3 123 12-¢,18.3, 12:4,13.4, 4.2, 4.0,
“¥.8,15.1,16.3,10.3,15.9,10.5, 1.7, I17-0

3. Name the five values needed to make any box plot. H‘q' (Lff&&(«ﬂ\"s \.F+
* Upper and |oWer €©xtremes
(max and min)

* median _
- Upper and |SWo Anarhles (g1 + Q3)

4. The data below show the number of hours spent studying last
week by ten classmates.

B4 WEEES 3,555, b\ 2,%8,410,15

a. Calculate the median of the data.

a €=
b. Identify the lower and upper extremes. \ @—t’ *
<. Identify the lower and upper quartiles.

b) lewer extyeme =3
wpper cxhr&ml—— \S

oGAA)vb-Q!—q

5. A researcher gathered data on the number of gray hairs on
the heads of 25-year-olds. The stem-and-leaf diagram displays
the data that she gathered from 40 people who were each
25 years old.
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Key: 4|5 represents 45 gray hairs.

15
a. What is the median number of gray hairs for these 40 _peopleT’ &DMW\’ w eivher Qnd D-P Yhe Leaves l—giv 5@
Show or explain how to determine the median. u,v\, (3.2 dd/lb or ¥ ¢. z
b. What is the range of the number of gray hairs for these people"
Show or explain how you obtained your answer. (’1 0= (o’-l'

c. What are the lower quartile and the upper quart]le" Explain |gu§@r iW‘h\b :Muw 0 valucs below ™

how to determine these values \ A7) % of entiru g‘/t Mrh\& =median ©
d. Make a box plot that displays the same data as in the stem- " NL N\Ldnﬁ“ ;move set
and-leaf diagram.
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6. Ten brangs‘of C r‘e?onm (hen'?u 1}1’5 of Calories per
serving: 230, 50,7150, ﬁglﬁlw 15 emd%o Make a

0, Ot O ta. w
w2 27 0 i 180 120 m\wo o 210 230 2607 Loveme

medianz\% N \
&\= 120 —
R2=21D0 loo 120 o lbo L&D 200 220 240 126D

Calovies L\xﬂ sewing)
7. Isit possible to use a stem-and-leaf diagram or a box plot to find
the mean of a data set? Explain.

Ttis pocsible +o fnd themean of o data

W 0L erem— and—leaf dagvam, ble
eﬁ -{\':V\me ownte are \ncuded mmwnﬂmm

Vb pose \ow'bﬁmm% 2 boy pwt because
—X/*\:o\\fog ‘Ng a;vrlum all o{lfhbv:mm P

8. Compare the use of stem- and leaf diagrams and box plots with

*(g}ﬂbf);s.\ict\i bargTaphsfordJsp]aymgdata A— s_\."n and leA‘F d‘a% yam & str
U\«'ﬂ ta,
\\.Q“MS ° 11'\0 A%Pvmes ar W Wc’
Sy -and-teaf muey b mumen call wnlle & h Wuoﬂtaﬂ
ko PM\L&& O WO Cal gca.QL.,U\u, a\,m Fincdude
S

9. A box plot of the 30 top per-game point scorers in a women'’s w i’h'/
basketball league is shown below.
L -1 ea Q3 ue
A A
| | | L L L | ? | | | | L L L
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
8 9 10 M 12 13 14 15 16 17 18 19 0 21 22

Based on the data in the box plot, indicate whether each of the
following statements must be true. Explain your reasoning for each
statement.

a. The mean number of points scored in a game is 15 points. %& - m M A,ws no-‘j oon‘h,w\ |V\‘F) . abovt mean

b. Half of the top 30 per-game point scorers scored at least

15 points.” \\"\A.@, = “\CAA“V\ ¢ 1g
<. Only one woman scored 21 points in a game. H\Q —W{L GO\.ALA, \ve move Wr\ one. value ﬁk W oz:lvtme .

d. Twenty-five percent of the top per-game point scorers scored

between 9 and 12 points per gameTm—l Nww Le conYeuns "l-l' O‘c the data

e. Half of the 30 top per-game point scorers scored betwegen 12

and about 17.7 points per game. ‘V\‘L" 20 -"hLd_m, e W\W wl\ ¢ Lowern a.(\d,uw‘e’uq"ah Bles-
f. The range of the points scored per game in this !;roup of o l ﬁ\
players is 14. %C’"‘M(/rﬁ I': 12 1% a’l,q—’- [L
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